BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10*

1000

rm320 2/(410969 —4976)=0.960

T T T T T T F
' BIC 453910 22 ABIC 0. OOO AlogP 0.0000
i x 389589.09 Ax 0.000 AlogP 0.0000 1
i Z ———e—ft;ﬂ:e__________-mc
................ A P
I : ABIC —1017260 —19809 ] X
i . nF -1017260 -20973 |
4886 : 4886 : 4976
A | : | AC5 :I | AC5F | |
20 40 60 80 100 120
120 iterations
rm320 2/(410969 4976) 0.960
L T | T | T | 1
i ' ' BIC 453910 22 ABIC 0. OOO AlogP 0.0000 |
- : : x 389589.09 Ax 0.000 AlogP 0.0000 -
Fe2 8% 579+214 km/s
rm320 BLR 7050 NLR 900 km/s
F T T T T T T T T T T T i
- - - 1 BLR
NLR
Fell

120 iterations

kdh1 10-0ct-2021 20:28



